IKEWE ERT ERE

o TR STMTHESH28H  KBH 4
+ i i+ 4,700kg
E fi f 1,300ke
ol ow s 1,355kg
T Fa 0L 2,045kg
& A Fi
5 L= Ei FEHE (ke 1= EEHh FEHE (ke
1 HIEE X $okkok *okkok ZU $okkok $okkok
2 E(FfE X IRt 380 PYLds =81 50
3 (A X *kokokok *kokokok -2 *kokokok *kokokok
4 SE & 90 hE Fokkok Fokkok
5 &L K& 90 H=y sokkok *okkok
6 Wbl ZH 100 KRB X g B2 40
7 THHLD BIE 50 EiEHYP ook ook
8 SAE ] HokAK StE ZH-PE 150
A Fokkk $okkok 1IZCET Fokkok *okkok
=L Hokokok Hokokok HES Hokokok Hokokok
noE FE 80
=Ly = 250
[ =) *okokk *okokk
JaY (A *okkok *kkk
Ve X = it 20
Mz Fkokok Fokokk
i) y::\ BTFA- T &
& Fi & Fi
= & H B FEHECRD | B 1] EH F = ke)
1 A& F 310 1 v L& 7Y 400
2 A s 655 2 B\EE JIyr— 400
3 AAY AVERLT 390 3 BEAE dLiEE 680
4 4 AFLvbL =E-FE 60
5 5 BdHL Ed 300
6 6 HYHA 250 200
7 7 N F S -l 5
8 8
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